& i g é;/? % Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
3,772 x 10 = 9, 387 x 100000 =
1,226 x 100 = 1,31 x 100 =
1,005 x 10 = 8,952 x 100000 =
10,363 x 10 = 10,384 x 100 =
6, 596 x 10000 = 2,976 x 100 =
3,722 x 10 = 7,263 x 10 =
6,007 x 100 = 8,761 x 10 =
4,148 x 1000 = 6, 796 x 100000 =
4,859 x 100 = 10,406 x 10 =
5, 847 x 10000 = 3,213 x 1000 =
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@% g g i’? % Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
3,772 x10=37.72 9, 387 x 100000 = 938700
1,226 x 100 = 122.6 1,31 x 100 = 131
1,005 x 10 = 10.05 8,952 x 100000 = 895200
10,363 x 10 = 103.63 10,384 x 100 = 1038.4
6, 596 x 10000 = 65960 2,976 x 100 = 297.6
3,722 x 10 =37.22 7,263 x 10 =72.63
6,007 x 100 = 600.7 8,761 x 10 =87.61
4, 148 x 1000 = 4148 6, 796 x 100000 = 679600
4,859 x 100 = 485.9 10,406 x 10 = 104.06
5, 847 x 10000 = 58470 3,213 x 1000 = 3213
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